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package MYPACis
areantWinee =6
HPeRANARRAY sanray(1ibW)dfsd Iogc vedordonriol);

consiantHALT :sid Iogic vedtor(4 downio0) ='00000;
oconsiantRAND: st Iogic vedorf4doanin0) ="00001'
consientOUT1.:sidl logc vedor@doanio0) ="00010'
consiantOUT2:sid logic vedorddoanto0) ="00011'
oconsiantOUT3:sidl logc vedor@doanio0) ="00100';
consiantOUT4:sid logic vedor@doanio0) ="00101'
constantOUTS: std logic vedtor4downio0) ="00110
consiantOUT6:sid logic vedorddoanio0) ="00111'
consiantiN1 ;s bge veooddoanin0) ="01000
corsiartN2 :stl bgie vedoddonnin0) ="01001";
consiantiN3 : sl bbge veooddoanin0)="01011"
corsiartiNA :stl bge vedoddownin0)="01010
consiantiNG ;s bbge veooddoanin0) ="011105
corsiartiNG :stl bge vedoddonnin0)="01100;
consiantFAIL: sl logic vedorddonnio0) ="10000;
consiartOK s bogic veoniddonnio0)="10110';
consantNXTG: st Ioge veaorddoanin0) ="10011";
osantSUCC: s logic vedorddoanio0) ="10100%
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constant DONE :sidl_logic vedord downio0) ="10010'
-

funcion DECODE (Asid logic vecr2downio0))
retm STD_LOGIC VECTOR,;
end MYPAC;
package bodyMYPACs
funcion DECODE (Asid logic vecr2downio0))
rem STD_LOGIC VECTOR1s
begh

A
when'001"'=>retum('000001);
when'010"=>retum('000010");
when'011"'=>retum('000100");
when 100" =>retum('001000");
when 101" =>retum('010000);
when"110" =>reum(*100000");
whenathers=>retum(DXO00X);
e
end DECODE;
end MYPAC;
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funcion DECODER (A insid logic. vedtor) - 4y
reLmsit logc, vedorls

variable TMP : std_logic_vector(2*(Alength)-1 downto O);
vaiigbeA INT :infeger;

beggMP::(mU); (2)variableD 0O O0O0OO0OO0OOODOOOOO
A_INT := CONV_INTEGER(A);
TMP(A_INT) =1}
retum TMP;

end DECODER,;
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befEE
uselEEESd loge 11648k
useEEEsd Ioge unsignedat
useworkMypecal
eyDSPs _ )
port( CLKRESETKEYDONE :insd logic;
HAHZA nd b
STATE:instd_logic vector(4downtoO);
RANREG: in RANARRAY;
LED: outsidl _logc vector(5downin0));
endDISP,
athiedueRTLADISPE
signal READYSKEYDONES :std logic;
%]r_alDISD:sd_bgc_vem(dewa);

LED<=DISP;

process (CLK,RESET) begin
RESET=1)then
KEYDONES <=0;
eki{CLKeventand CLK=1)then
KEYDONES <= KEYDONE;
ad
end process;

process (CLK,RESET) begin
i(RESET=1)then
DISP<=(chers=>0);
ekif(CLKeventand CLK=1)then
case STATES < (1) case] STATEO OO O OO
when OUT1 => DISP <= DECODE(RANREG(1)); DISPILEDO O OOOO
when OUT2 => DISP <= DECODE(RANREG(2));
when OUT3 => DISP <= DECODE(RANREG(3));
when OUT4 => DISP <= DECODE(RANREG(4));
when OUT5 => DISP <= DECODE(RANREG(5)); @) SEDCS DD IIE]DDIDS%S g g g g
when OUT6 => DISP <= DECODE(RANREG(6)); Elalalalalalats
when IN2 =>DISP <= DECODE(RANREG(L));
when IN3 =>if(KEYDONES=1) then
DISP <= DISP or DECODE(RANREG(2));

ad
when IN4 =>{(KEYDONES=1)then
DISP <= DISP or DECODE(RANREG(3);

at
when N5 =>{KEYDONES=1) then
DISP <= DISP or DECODE(RANREG(4);

ad
when IN6 =>ifKEYDONES=1)then
DISP <=DISP or DECODE(RANREG(5));

ad

whenFAIL=>i{HZ2L=1) then DISP <=(chers=>1);
de DP<gtes=0)
ad

when SUCC =>ifHZ2L=1)) then DISP <="101010";
ee  DSP<=010107"
adf

when DONE => DISP <=*“000001"

whenOK =>i{HzZ4=1)then

DISP(5 downto 1) <= DISP(4 downto 0);
DISP(0)<=DISP(),

ad
whenothers=>DISP <= (others=>0);
endcase;
ad
end process;

endRTL;

(3) othersO 0 0 000 IN1,HALT,RAND,NXTGO
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